Analiza odgovora
Ljetni rok 2011./2012. - Spanjolski jezik (A) - Test, kandidati izvan $kolovanja RH

Pitanje | Odgovori| Status odgovora | Broj kandidata | Postotak | Q1 %] Q2 %[ Q3 %[ Q4 %
1 C Toc€an odgovor 6 85,71 17 33 33 17
1 F Neto¢an odgovor 1 14,29 100 0 0 0
2 C Neto¢an odgovor 1 14,29 100 0 0 0
2 F Tocan odgovor 6 85,71 17 33 33 17
3 A Toc€an odgovor 6 85,71 17 33 33 17
3 B Neto¢an odgovor 1 14,29 100 0 0 0
4 B Toc€an odgovor 6 85,71 17 33 33 17
4 D Neto¢an odgovor 1 14,29 100 0 0 0
5 D Neto¢an odgovor 2 28,57 50 50 0 0
5 E Tocan odgovor 5 71,43 20 20 40 20
6 A Neto¢an odgovor 1 14,29 0 100 0 0
6 B Toc¢an odgovor 2 28,57 0 50 50 0
6 C Neto&an odgovor 4 57,14 50 0 25 25
7 A Neto¢an odgovor 1 14,29 100 0 0 0
7 B Toc€an odgovor 4 57,14 25 50 0 25
7 C Neto€an odgovor 2 28,57 0 0 100 0
8 A Toc€an odgovor 4 57,14 25 50 0 25
8 B Neto¢an odgovor 1 14,29 100 0 0 0
8 C Neto&an odgovor 2 28,57 0 0 100 0
9 A Neto¢an odgovor 1 14,29 0 100 0 0
9 B Neto&an odgovor 2 28,57 100 0 0 0
9 C Tocan odgovor 4 57,14 0 25 50 25
10 A Toc€an odgovor 6 85,71 17 33 33 17
10 B Neto€an odgovor 1 14,29 100 0 0 0
11 A Neto&an odgovor 4 57,14 50 25 0 25
11 B Tocan odgovor 3 42,86 0 33 67 0
12 A NetoCan odgovor 1 14,29 0 100 0 0
12 B Neto¢an odgovor 2 28,57 100 0 0 0
12 C Tocan odgovor 4 57,14 0 25 50 25
13 A Tocan odgovor 6 85,71 33 17 33 17
13 B NetoCan odgovor 1 14,29 0 100 0 0
14 A Tocan odgovor 4 57,14 0 50 25 25
14 B NetoCan odgovor 2 28,57 50 0 50 0
14 C Neto€an odgovor 1 14,29 100 0 0 0
15 A NetoCan odgovor 5 71,43 20 20 40 20
15 C Tocan odgovor 2 28,57 50 50 0 0
16 A NetoCan odgovor 1 14,29 0 100 0 0
16 B Tocan odgovor 4 57,14 50 25 25 0
16 C NetoCan odgovor 2 28,57 0 0 50 50
17 A Tocan odgovor 3 42,86 33 33 33 0
17 B NetoCan odgovor 3 42,86 33 33 33 0
17 C Neto¢an odgovor 1 14,29 0 0 0 100
18 A Tocan odgovor 6 85,71 17 33 33 17
18 B Neto€an odgovor 1 14,29 100 0 0 0
19 A NetoCan odgovor 2 28,57 50 0 50 0
19 B Tocan odgovor 5 71,43 20 40 20 20
20 A NetoCan odgovor 1 14,29 0 100 0 0
20 B Tocan odgovor 5 71,43 20 20 40 20
20 C NetoCan odgovor 1 14,29 100 0 0 0
21 A Tocan odgovor 6 85,71 33 17 33 17
21 B Neto€an odgovor 1 14,29 0 100 0 0
22 A Tocan odgovor 4 57,14 25 25 25 25




22 C Neto¢an odgovor 3 42,86 33 33 33 0
23 A Neto€an odgovor 3 42,86 33 33 0 33
23 B Neto¢an odgovor 4 57,14 25 25 50 0
24 A Neto¢an odgovor 1 14,29 100 0 0 0
24 C Toc€an odgovor 6 85,71 17 33 33 17
25 B Tocan odgovor 6 85,71 17 33 33 17
25 C Neto¢an odgovor 1 14,29 100 0 0 0




